
Gran Samidt

Idea : stat with a collection of vectors

a de
, an

We'resong to build some orthonormal vectors

41 / &2 , 93

With The following properties :

9) is just a multiple of a

Es is a liner combination of a and as

Ez is a liver combinate of acsas and as

(And ue-esc! 93 is a liver combo of 3. q2/93)











E = a -(az) & , 9= #(4 - 2 +3)=
i = (b) - 5(18]
= [ise

as
= =Isr []

Is 22
+ a. ? [i] "[k]= 19 - 2 - 16 + 3

= 32 - 32 = 0





Opshot : If all the as are limenly independent
we never have a E= 0 so

we never risk dividing by zero.

The algorithm genentes a fall set of Kis.

Converse : If one as is a linen combo of an--akt

one can show that i = 0 ·

If The as are livenly dependent, we can

test this with Gram Schmidt :

one ik will be zero iff the as

and linerly dependent
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